NO. 1

HARD IR
LA
ULEEV
Bl 2
HIEE R A H
HURRAT DI Rl T
AT
L) A

NV
A R
V—DE51V
K 40 A 6314
YRk 9F - H
4Fn 3410 A 30 H
100, 504km
800 kg




NO. 2

HARD IR
LA
ULEEV
Bl 2
HIEE R A H
HURRAT DI Rl T
AT
Ll B A

NV
AN
V—KV3

BEE 40 1F 8931
PRk 8 4 - A
SR 445 H 28 H
85, 104km
860 ke




NO. 3

HARD IR
LA
ULEEV
Bl 2
HIEE R A H
HURRAT DI Rl T
AT
L] A

NV

AN

V—KV3
R8T 40 |F 8933

PRk 8 4 - A
SR 445 H 28 H
100, 681km
860 ke




NO. 4

HARD IR
LA
ULEEV
Bl 2
HIEE R AL H
HRRAT DI Rl T
AT
L] B A

NV

AN

V—KV3
B 40 1F 8934

Rk 8 4 - A
SR 445 H 28 H
97, 447km
860 ke




NO. 5

HARD IR
LA
ULEEV
Bl 2
HIEE R AL H
HRRAT DI Rl T
AT
L] B A

NV

AN

V—KV3
R840 1F 8936

Rk 8 4 - A
SR 445 H 28 H
41, 355km
860 ke




NO. 6

HARDIZK
H4
ALE=V
B 5
R A A
HR A 2 B T H
AT ERRE
HL ) B A

NV
k3%
R—EE102V
HEE 45 @] 2765
PR 9 5 H
SFN3 45 H 28 H
145, 201km
970 ke




NO. 7

HARDIZK
H4
ALE=V
B 5
R A A
HR A 2 B T H
AT ERRE
HL ) E A

NV
k3%
R—EE102V
HEB 45 W] 2766
PR 9 5 H
SFN3 45 H 28 H
88, 672km
970 ke




NO. 8

HARD IR
LA
ULE=V
Bl 2

) EE X kA

HURRAT DI Rl T

AT
L] A

N
=R
GA—YX78V

[194]

HEE 45 4 9113
Rk 8 4 5 H
SFI345 H 23 H
150, 986km
1220 ke




NO. 9

HARDIZK
H4
ALE=V
B 5
R A A
HR A 2 B T H
AT ERRE
HL ) B A

NV
=y
GA—VAJC23
HER 45 ¢ 9403
Rk 8 4 5 H
SFI346 H 27 H
104, 360km
1230 ke




NO. 10

HARD IR
LA
ULEEV
Bl 2

) EE X kA

HURRAT DI Rl T

AT
Ll B A

NV
=y
GA—VAJC23
H B 45 § 9404
Rk 8 4 5 H
SF345 H 29 H
66, 146km
1230 ke




NO. 11

HARD IR
LA
ULEEV
Bl 2
B kA
HURRAT DI el T
AT
L] A

NV
=
R—EE102V
LW 45 3 9433
PRk 8 £ 5 H
SFI345 H 29 H
134, 960km
970 ke




NO. 12

HARDIZK
H4
ALE=V
B 5
R A A
HR A 2 B T H
AT ERRE
HL ) B A

NV
=R
R—EE102V
G 45 1 9489
PRk 8 £ 5 H
SFI345 H 31 H
154, 578km
970 ke




NO. 13

HARDIZK
H4
ALE=V
B 5

) B B B AF A

HR A 2 B T H

AT ERRE

HL ) E A

N
hax
R—EE102V
R 45 1 9490
FRk 8 4F 5 A
SFI345 H 30 A
88, 940km
970 ke




NO. 14

HARD IR
LA
ULEEV
Bl 2
B kA
HURRAT DI el T
AT
L] A

NV
=
R—EE102V
BEHF 45 ¢ 9550
PRk 8 £ 5 H
SFI345 H 30 A
128, 207km
970 ke




NO. 15

HARD IR
LA
ULEEV
Bl 2
B kA
HURRAT DI el T
AT
L B A

NV
=
R—EE102V
5 45§ 9551
PRk 8 £ 5 H
SFI345 H 30 A
88, 812km
970 ke




NO. 16

HARD IR
LA
ULEEV
Bl 2
B X kA
HURRAT DI Rl T
AT
L] A

NV
~ VA
GA—SS88V
LW 45 3 9597
FR% 8 4F 6 H
TM3F6H 2 H
85, 942km
1270 ke




NO. 17

HARDIZK
H4
ALE=V
B 5
1) X5 A A
HR A 2 B T H
EATERRE
HL ) B A

NV
=
R—EE102V
HEE 45 1 9668
FRk 8 £F 6 H
T3 6 H4H
110, 282km
970 ke




NO. 18

HARDIZK
H4
ALE=V
B 5
1) X5 A A
HR A 2 B T H
EATERRE
HL ) E A

NV
=P
R—EE102V
HEE 45 1 9669
FRk 8 £F 6 H
T3 6 H4H
45, 324km
970 ke




NO. 19

HARDIZK
H4
ALE=V
B 5

) B B B AF A

HR A 2 B T H

EATERRE

HL ) B A

N
=
R—EE102V
KB 45 3 9670
FoR% 8 4F 6 A
T3 6 H4H
109, 689km
970 ke




NO. 20

HARDE IR
H4
ALE=V
B[] 2

P EE F A AF A

HR AT IR T

EATERRE
ENTINES -y

i
e

1]
Rt

E—H31A
38T 50 1 3500
Rk 8 4 - A
SF345 H 26 H
91, 824km
730 ke




NO. 21

HARDIZK
H4
ALE=V
B 5
PIEE A AR A
HR A 2 B T H
AT ERRE
HL [ H A

Fa
~V K
E—CY51S
B EE 50 72 9513
PRk 10 £ - H
SFI34E5 H 27 H
79, 489km
740 ke




